2025/08/28 07:17 1/3 ooooooo

Jouoood

oot

0000000000000 000D000000 $0(nlogn)$0 0O 00 $0(n)$0

oogd
0000000000000000000000000000000000000000000000
000

goobooobbooobooobobooobbdoobboobbbodbbooobbooob o
goboogooo

gboboooboboodobbooobbuooobbooobbuooobooon

000000 $text{dfs}$ 000 000000000000 000O000000@O0O000000
00)0d

goobooobbooobobooobobooobbuooobboobbboobbooobbooobo
goo

gobogoboodoobooobbuoooobooobobooobbooobboooono

O000000000000 $O(N\legn)$ 00000 ODOOODOOODOODO $O(Mlogn)$ 0000 ODO0O
OO0oO00O $0(n\log n)$[

oot

CF570D

gd

00000 $s000 $n$00000DOOO0ODOODOOOODOOOODODODOOODOOOOOD
$1s0000000000

0000 %$a,b$0 00 $2$ 000000000 $b$ 000000 DOOO0OOODOOODOOOOO

gd

goboogobobooobooobobooobbuooobboobobbooobbooobbOoOon

g UUUU g

const int MAXN=5e5+5;
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struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt|.next=head|u!;
head|u|=edge cnt;

char buf[MAXN];
int cnt[MAXN ;
bool ans[MAXN];
vector<pair<int,int> > query[MAXN;
bool check(int d

int temp=0;

_for(i,o0, temp+=cnt|d]| [i]&1;

temp<=1;

int d/MAXN|,sz/MAXN|,dfs id[MAXN|,node id MAXN|,dfs t;
int h _son/MAXN|,mson [ MAXN];
void dfs 1(int u,int depth
szlul=1;d/ul=depth;dfs id/u|=++dfs t;node id|[dfs ti=u;mson|ul=0;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
dfs 1(v,depth+1);
szlul+=sz|v];
sz/v/>mson|u
h sonlul=v;
mson{ul=sz(v];

void update node(int u,int v){cntid|u buflul-'a'l+=v;
void update tree(int u,int v

_for(i,0,szlu

update node(node id|[dfs id/ul+il,v);

void dfs _2(int u,bool del
int i=head[u];i;i=edge[i].next
int v=edgeli].to;
v==h son|u ;
dfs 2(v,true);

h sonlul)dfs 2(h soniul, false);
update node(u,1);
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
v==h_son|u ;
update tree(v,1);
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_for(i,0,querylul.size
ans|querylul[i].first]|=check(query|u](i].second);
del)update tree(u,-1);

int main

int n=read int(),q=read int(),root=1,u,d;
_rep(i,2,n
Insert(read int(),1i);
scanf("%s",buf+1);
_for(i,0,q
u=read int(),d=read int();
query|ul.push back(make pair(i,d));

dfs 1(root, root);
dfs 2(root, false) ;
_for(i,0,q
ans|i
puts("Yes");

puts("No");
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